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1. AT I3 : (i) x+y+3z-2xyz W3 -2x+3y+42-8

J8
x+ y+ 3z-2xyz

2x+3y+4z -8

-X+4y+7z-2xyz - 8

(ii) 2x2y2 - 3xy +4 W3 5 + 7xy - 3x2y?2

dY
2x2y° - 3xy + 4

3x2y2+ 7xy + 5

-x2y2+ 4xy + 9

2.AF AT : (i) 2x(x-y-2z) W32y (z-y-X)
IS :
2x (x-y-2) + 2y (z-yX)
=2x2-2xy-2xz+ 2yz-2y?-2xy
= 2x2-2xy-2xy-2xz+2yz-2y?

= 2x2-4xy-2xz+2yz - 2y?

(i) x(x-y), yly-2) "3 z(z - %)
I8
x(x-y)+y (y-z) +z(z)
=x2-Xy + y%- yz + 7% -zX

=x2+y2+ 22 - Xy -yzZ - zX

3. Werg :
(i) 4x - 7xyz f<T 2x + 3y + 4z+ 3xyz
I8 :

4x -7Xyz
2x + 3y +4z +3xyz

2x -3y -4z - 10xyz
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(ii) 2ab - 2bc + 2cd - 2abc f€F ab + be - ¢d + abc

-

98 :

2ab - 2bc + 2c¢d - 2abc
ab+ bc - c¢d + abc
_ - + _

ab - 3bc+ 3cd - 3abc

4.2x + 3y -2z M3 x -y + 3xyz ergfed 4x+3y-4z+7xyz?_:_§7-'12"§|

-

98 :

2x + 3y - 2z
X -V + 3xvz
3x+ 2y- 2z +3xyz

3x +2y -2z +3xyz
4x + 3y -4z +7xyz
- - + -

-X -y +2z - 4xyz

5. 9¢(10n - 3m + 2t ) f&T" 8¢(L - 4m + 5n) § WG|
IS . 8l (I-4m+5n) = 8Ix| — 8Ix4m + 8Ix5n = 812-32Im+40In

91(10n-3m+2l) = 91x10n -9Ix3m + 9Ix2| = 90In-27Im+18I% = 181+90In-27Im

1812490In - 27Im
812- 32Im + 40In
- - +
1012+50In+5Im

6. foniAd 2xy (x + y + z) M3 3y (x2 - xy + x2) éﬁ??;?Sx(xy +y? - dyz) fed weg|
I8 :

2xy (x +y + z) = 2x%y + 2xy2+2xyz

3y (x? - xy + xz) = 3x%y - 3xy? + 3xyz

2x2%y + 2xy? + 2xyz
3x%y - 3xv2? + 3xyz
5x2y - xy? + bxyz

5x (xy + y?2 - 4yz) = 5x2y + 5xy? - 20xyz

5x2y + 5xy? - 20 xyz
5x%y - xy? + 5xyz
_ + _

0 + 6xy?2-25xyz
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= 6xy2 - 25 xyz €39

7. 35 fofmit yrst T Ieees U™ a3
(i) (2x+ 3y) W3 (x + 2y)
I8
(2x +3y) (x + 2y)

= 2x(x + 2y) + 3y (x+2y)
= 2x2 + 4xy + 3xy + 6y?

= 2x2+7xy+6y? SE)

(i) (2x-y) W3 (x + 3y)
I8:  (2x-y)(x +3y)
= 2x(x + 3y) - y(x + 3y)
= (2xXx) + (2x X 3y) - (yXx) - (y X 3y)
= 2x2 + 6xy - yX - 3y? = 2x2 + 5xy - 3y?
8. AG® J3:
(i) @x+5)@4x+1)
I8 :  (4x+5) (@x+1)
@8 x=4x,a=5b=1
(x +a) (x +b) = x2 + (a + b) x + ab T GUUIIT IIT I
= (4x)2 + (5+1)4x + 5x1
=16x° + 6x4x + 5 =16x2+24x + 5

(ii) (7p + 6)(7p - 3)
I :

(7p+6) (7p-3)
ﬁﬁx=7p, a=6, b=-3

(x +a) (x +b) = x2+ (a + b) x + ab T GUUIIT IIT I
= (7p)? + [6+(-3)]x7p + 6x(-3) =49p? + 3x7p - 18 = 49p2 + 21p - 18
ceon (23
(i) Cx-2yp
IJ8 .
Cx-2yp
(a-b)? = a2-2ab+b?
= (Ex)z _oxZox3y 4 (3 )2
3 7Y T RY
= gxz 2xy + zyz
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